AES 11 = 8.7, §9.1,9.2,9.3

1.6y Evaluate folaslna:da: )
(sol.) EARHES lim falxlnxdx
a—0

fxlnxdx: 2f1nxd )<+1>

= (lnm x? —fxdx (+1)
= (lnx 1‘2 - 1 )(+1)
lim Ina-a? = lim ;2 =0 @2
a—0t T—00
hm+f rlnxdr = Tl (+1)
aHO
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2.5 Evaluate/ x 2 V7 dy
0

(sol.) EARHES lim falngyz;_Qe%1 dx
fx 205 do = fe @

=€z (+1)

d(=)

) n2 o =1 =1
. lim f r2e% dr = lim [eln2 —ea | (+1)
a—0t ¢ a—0t

-

—1

=emhm2 — eot = e2 (19

1 —

3.0 an = (55)"

n—oo
(sol) BA=(1+52)" =
2n
=17 31
|: 1 + 3n 1 :| +2)
TH—O>O 62/3 (+2)

Find lim a, if it converges.

4.(ry Determine the convergence: Z(l — %)”

n=1
. v s 1
(sob) i (1 =)= B g =nyem
1 1
= lim T (+2) :—(+2),7é0
=0 (1 +x)= e

The oo-sum diverges by n'" term test. (1)

2.(6) onverges or @iverges
1 . 8 arctan n.
Z n(1+1In? n) 1+n? .
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(Tidy up your work above. Anything written below does not count.)
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